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#let £ xy=x (x (y +10));;

val £ : (int -> int) -> int -> int = <fun>

# let g x = (fst x) + (snd x) + 10;;

val g : int * int -> int = <fun>

# let i_comb x = x ;;

val i_comb : ’a -> ’a = <fun>

# let k_comb x y = x;;
val k_comb : ’a -> ’b -> ’a = <fun>

# let s_comb x vy z = (x z) (y 2);;
val s_comb : (Pa -> ’b -> ’¢c) -> (Pa -> ’b) -> ’a -> ’c¢ = <fun>

# let b_comb x y z = x (y 2);;

val b_comb : (Pa -> ’b) -> (’c -> ’a) -> ’c -> ’b = <fun>
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let £ x =
fun y > x (x (y + 10))

in ...
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let gz =2z + 20 in
f g 30

000000000 (000 (£ g 300000000000000000)g (g (30+10)) 0000000000
ooooooboosooobooog

0000oO000oO00o0O0000OU0O0l10000000 (COoODooO0O0oO0o0DoODOOOO0O)0DoO0OD2000000O
000000000o00ooO0(oOo300000000Oo00)U00200000010000000ODOO0OO
gbooooobooooboboooooobooobo



gbooobO2 bD0o0o00b00b0dbDzxz_combOOOOO0ODOOOO0OOODOODOOOOOOOODOODOOOOO
O0O0Ok_comb 0 KOOOOOODOOOOOMN2OOOOOODOOOOOODOOOOOOODOOOOODODODOOOOO
oooooooooooooOooOopobooOo Ssgoooooo KOooobooooooob 2000b0oOb0o0gooo
0000000000000 000000000000(@oO000000000000000000D0DOoUDOOoOO
00000000O0)00000000000O0U0000000U00O0000O0O0O0OO0UOO0OSO KooowWoooo
00000000000 (0000000)00000U0000000000000UO0O0DU0ooOOoDOooooUoOo
0000000000000 Oithen-else 000 0000000000000 OOOOOOOOO SO KOOOOO
uboooooooboboboooooobooboboboboooooooboobobobobooobobooooobooonag
0000000000000 0O0O00OUOooOoUoooooUon)

0000 3. 000oobO0bobobooo0oboooob0O0obOd0bOd0dicomb i_comb DOOOOOOOOOOOOO
gooooboooboboooogoo

let i_comb x = x in

i_comb i_comb ;;
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